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QUESTION 1

Which kinds of data can you model with Open ODS views? Note: There are 2 correct answers to this question.
A. Unstructured data

B. Master data

C. Queries

D. Language-dependent texts

Correct Answer: BD

QUESTION 2

Which of the following objects are supported in SAP BW/4HANA? Note: There are 2 correct answers to this question.
A. DataStore object (advanced)

B. InfoSet

C. MultiProvider

D. InfoCube

E. CompositeProvider

Correct Answer: AE

QUESTION 3

Which of the following statements about the native DataStore object in SAP SQL Data Warehousing is true?
A. A native DataStore object can be accessed from SAP BW/4HANA.

B. A native DataStore object is generated when a DataStore object (advanced) is activated in SAP BW/4HANA
C. Native DataStore objects require InfoObjects in SAP BW/4HANA.

D. Native DataStore objects will replace SAP HANA calculation views over time.

Correct Answer: A

QUESTION 4
Which of the following are advantages of column tables?

A. Elimination of additional indexe
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B. Elimination of parallel execution
C. Elimination of materialized aggregates
D. Higher data compression rates

Correct Answer: ACD

QUESTION 5

The goal of implementing SAP Business Warehouse is to move the reporting burden from the ERP system? Determine
whether this statement is true or false.

A. True
B. False

Correct Answer: A
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